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3 113 F<F >RFEEHF LR L ==> R3 3
ke —fefe
#1: 4 JEH (47.76) #2: 5 ETB(43.8) #3: 2 5(43.64)
1 NS: BREFE £F22(BH0) -4 7 NS: E{&{& 8154 (FAC) 12 VP: 6.00 14.00 | Total VP: 20.72 Rank:
EW: Fasit S8 EAC) -12 EW: HER B5Ei5(50) 4 IMP:| 7 19 15
I e —————————— -
# 21 » KT74 3NW4 -430 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 3SW-1100 Mean: 4SW-2 200 50 1
v T96 6DE-3150 -230  2HW-1 50 70 1 v Q73 3HS3140 10  3HS3 140 40 2
¢ QT Dif: -580 NS:-5 3DE3 410 3.0 1 ¢ 96532 Dif: -40 NS:3 4SW-1 100 30 1
» T843 IMP: -11 EW:-9 2HW2 110 3.0 3 » J87 IMP: -1 EW:-4 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 oV ABN 4 ATS 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 140 40 1
S ~~~ -~ -~ 0 J7 3NW5 460 60 1||S 2~3~~ 44
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 4HE5 -650 Mean: 6HE-2 200 120 1 ||# 24 » Q876 48S-1-50 Mean: 4SS4 420 9.0 1
v K9 4HE5 -650 -530  2NE2 120 9.0 1 v QJT 25S3140 50 38S4 170 30 1
+ KQT8 Dif: 0 NS:-3 3HE4 170 80 1 7 Dif: -190 NsS:-3 3SS3 140 30 1
& AQ75 IMP: 0 EW:3 2HE4 170 80 2 & AK963 IMP: -5 EW:-3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2853 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 [|S ~ ~ ~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SE5 -650 Mean: 4SE-1 100 120 1 # 26 & A32 1SE1 -80 Mean: 1NW-2 200 70 1
v AQJ2 4SE5 -650 -600 4Sw4 620 1.0 4 v 85 2HW3 -140 -90  1SE-1 100 50 1
« KJ8654 Dif: 0 NS:-2 4SE4 620 -1.0 6 + QJ9 Dif: 60 NS:0 1NW-1 100 50 2
» K98 IMP: 0 EW:2 4SW5 650 20 1 & QT973 IMP: 2 EW:2 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 & QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW3 -400 Mean: 3NW3 400 1.0 3 ||# 28 » 732 4HE-1 50 Mean: 4HW-1 50 60 1
v QT62 3NE4 -430 -420 3NW4 430 0.0 13 v JT 2SW2 -110 -180  4HE-1 50 60 2
+ A976 Dif: 30 NS:1  3NE4 430 00 2 ¢ T75 Dif: 160 NS:6 2SW-1 50 60 1
&4 IMP: 1 EW:0 & AT864 IMP: 4 EW:-2 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
% ¢V ABN o854 FeVAN o, QJ8 3HE4 470 0.0 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 92 2HE4 4170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN4 630 Mean: 3NN6 690 20 1 # 30 4 63 4SE4 -420 Mean: 4SW-1 50 100 1
v QJ6 3NN6 690 630  3NN5 660 1.0 v Q975 4SE4 -420 -380 3SE4 470 50 1
¢ T963 Dif: -60 NS:0 3NN4 630 00 11 + Q73 Dif: 0 NS:-1 4sw4 420 1.0 11
& AK8 IMP: -2 EW:-2 3NN3 600 1.0 » T632 IMP: 0 EW:1 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ & 32 E 45~54 &AK
W ~~~~~ W 45~54
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3 113 F<F >RFEEHF LR L ==> R3 3
ke —fefe
#1: 4 JHH (47.76) #2: 5 FE R (43. 8) #3: 2 5(43.64)
2 NS: B&SF STRINGEO) -4 4 NS: 2§t Z=HRZ(BAC) 8 VP: 6.86 13.14| Total VP: 43.64 Rank:
EW: BE#ES: BEESF(RAC) -8 EW: EEf ikT51E(BO) 4 IMP:| 7 : 16 3
S ————————————————— e —————————— I
# 21 s KT74 5DE5 -400 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 2SW2 -110 Mean: 4SW-2 200 50 1
v T96 3NW5 -460 -230 2HW-1 50 70 1 v Q73 4SW-1100 10  3HS3 140 40 2
¢ QT Dif: 60 NS:-5 3DE3 410 3.0 1 ¢ 96532 Dif: 210 NS:-3  4SW-1 100 30 1
» T843 IMP: 2 EW:6 2HW2 110 3.0 3 » J87 IMP: -5 EW:-3 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 *¢VABN 4, AT5 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 <140 40 1
S ~~~ -~ -~ 0 J7 3NW5 460 60 1||S 2~3~~ 44
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 2HE4 -170 Mean: 6HE-2 200 120 1 ||# 24 » Q876 4SXS-1-100 Mean: 4SS4 420 9.0 1
v K9 2NE2 -120 -530 2NE2 120 9.0 1 v QJT 3SN3 140 50 38S4 170 30 1
+ KQT8 Dif: -50 NS:8 3HE4 170 80 1 7 Dif: -240 NsS:-4 3SS3 140 30 1
& AQ75 IMP: -2 EW:-9 2HE4 170 80 2 & AK963 IMP: -6 EW:-3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2853 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 [|S ~ ~ ~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SE5 -650 Mean: 4SE-1 100 120 1 # 26 & A32 2HW2 -110 Mean: 1NW-2 200 70 1
v AQJ2 4SE4 -620 -600 4SW4 620 1.0 4 v 85 1NW1-90 -90  1SE-1 100 50 1
+» KJ8654 Dif: -30 NS:-2 4SE4 620 -1.0 6 + QJ9 Dif: 20 NS:-1  1NW-1 100 50 2
» K98 IMP: -1 EW:1 4SW5 650 20 1 & QT973 IMP: -1 EW:0 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 » QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW4 -430 Mean: 3NW3 400 1.0 3 ||# 28 » 732 4HE-1 50 Mean: 4HW-1 50 60 1
v QT62 3NW4 -430 -420 3NW4 430 0.0 13 v JT 2NE2 -120 -180  4HE-1 50 60 2
+ A976 Dif: 0 NS:0 3NE4 430 00 2 ¢ T75 Dif: 170 NS:6 2SW-1 50 60 1
&4 IMP: 0 EW:0 & AT864 IMP: 5 EW:-2 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
o ¢VABN 4854 oo VAN 4, QJ8 3HE4 170 00 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 &92 2HE4 170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN3 600 Mean: 3NN6 690 20 1 # 30 4 63 4SWS5 -450 Mean: 4SW-1 50 100 1
v QJ6 3NN3 600 630 3NN5 660 10 3 v Q975 4SW4 -420 -380 3SE4 470 50 1
¢ T963 Dif: 0 NS:-1 3NN4 630 00 11 + Q73 Dif: -30 NS:-2 4Sw4 420 1.0 11
& AK8 IMP: 0 EW:1 3NN3 600 -1.0 3 » T632 IMP: -1 EW:1 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ & 32 E 45~54 &AK
W ~~~~~ W 45~54
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#1: 4 JEH (47.76) #2: 5 ETB(43.8) #3: 2 5(43.64)
3 NS: SHEHH BRIEHT(BHO) -9 12 NS: Bk = EEBIEE(BAC) -14 VP: 13.14 : 6.86 Total VP: 16.36 Rank:
EW: B2 BaEEEIC) 14 EW: EE & 5%IF(BO) 9 IMP:| 15 : 6 16
— e —————————— o
# 21 s KT74 2HW2 -110 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 3CXS-1-100 Mean: 4SW-2 200 50 1
v T96 2HW2 -110 -230  2HW-1 50 70 1 v Q73 3SW-1100 10  3HS3 140 40 2
¢ QT Dif: 0 NS:3 3DE3 410 3.0 1 ¢ 96532 Dif: 200 NS:-3 4SW-1 100 30 1
» T843 IMP: 0 EW:-3 2HW2 110 3.0 3 » J87 IMP: -5 EW:-3 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 oV ABN 4 ATS 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 140 40 1
S ~~~ -~ -~ 0 J7 3NW5 460 60 1||S 2~3~~ 44
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1~
# 23 » 532 3NW4 -630 Mean: 6HE-2 200 120 1 ||# 24 » Q876 3SS4 170 Mean: 4SS4 420 9.0 1
v K9 4HE5 -650 -530  2NE2 120 9.0 1 v QJT 3SS3140 50 38S4 170 30 1
+ KQT8 Dif: 20 NS:-3 3HE4 170 80 1 7 Dif: 30 NsS:3 3SS3 140 30 1
& AQ75 IMP: 1 EW:3 2HE4 170 80 2 & AK963 IMP: 1 EW:-3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2853 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 [|S ~ ~ ~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SE5 -650 Mean: 4SE-1 100 120 1 # 26 & A32 2HW2 -110 Mean: 1NW-2 200 70 1
v AQJ2 4SE4 -620 -600 4SW4 620 1.0 4 v 85 2DXS-2-500 -90  1SE-1 100 50 1
+» KJ8654 Dif: -30 NS:-2 4SE4 620 -1.0 6 + QJ9 Dif: 390 NS:-1  1NW-1 100 50 2
» K98 IMP: -1 EW:1 4SW5 650 20 1 & QT973 IMP: 9 EW:9 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 & QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW4 -430 Mean: 3NW3 400 1.0 3 ||# 28 » 732 3NE4 -430 Mean: 4HW-1 50 60 1
v QT62 3NW4 -430 -420 3NW4 430 0.0 13 v JT 2DXS-2 -500 -180  4HE-1 50 60 2
+ A976 Dif: 0 NS:0 3NE4 430 00 2 ¢ T75 Dif: 70 NS:-6 2SW-1 50 60 1
&4 IMP: 0 EW:0 & AT864 IMP: 2 EW:8 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
o ¢VABN 4854 oo VAN 4, QJ8 3HE4 170 00 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 &92 2HE4 170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN5 660 Mean: 3NN6 690 20 1 # 30 4 63 4SW4 -420 Mean: 4SW-1 50 100 1
v QJ6 3NN3 600 630 3NN5 660 1.0 v Q975 4SW4 -420 -380 3SE4 470 50 1
¢ T963 Dif: 60 NS:1  3NN4 630 00 11 + Q73 Dif: 0 NS:-1 4sw4 420 1.0 11
& AK8 IMP: 2 EW:1 3NN3 600 1.0 » T632 IMP: 0 EW:1 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ & 32 E 45~54 &AK
W ~~~~~ W 45~54
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#1: 4 JEH (47.76) #2: 5 ETB(43.8) #3: 2 5(43.64)
4 NS: 22T EHEZEAC) 8 2 NS: BRZ<F SR (BHO) -4 VP: 13.14 : 6.86 Total VP: 47.76 Rank:
EW: E&H 2EJ51EEE0) 4 EW: [R# = BR#<F(BAC) -8 IMP:| 16 : 7 1
S ———————————r—— e —————————— .
# 21 » KT74 5DE5 400 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 2SW2 110 Mean: 4SW-2 200 50 1
v T96 3NW5 460 -230 2HW-1 50 70 1 v Q73 4SW-1-100 10  3HS3 140 40 2
¢ QT Dif: -60 NS:-6 3DE3 410 3.0 1 ¢ 96532 Dif: 210 NS:3  4SW-1 100 30 1
» T843 IMP: -2 EW:5 2HW2 110 3.0 3 » J87 IMP: 5 EW:3 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 oV ABN 4 ATS 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 140 40 1
S ~~~~~ *J7 3NW5 460 60 1||S 2~3~~ ¢4
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 2HE4 170 Mean: 6HE-2 200 120 1 ||# 24 » Q876 4SXS-1100 Mean: 4SS4 420 9.0 1
v K9 2NE2 120 -530 2NE2 120 9.0 1 v QJT 3SN3 -140 50 38S4 170 30 1
+ KQT8 Dif: 50 NS:9 3HE4 170 80 1 7 Dif: 240 NS:3 3SS3 140 30 1
& AQ75 IMP: 2 EW:-8 2HE4 170 80 2 & AK963 IMP: 6 EW:4 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2883 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 ||S ~ ~~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SE5 650 Mean: 4SE-1 100 120 1 # 26 & A32 2HW2 110 Mean: 1NW-2 200 70 1
v AQJ2 4SE4 620 -600 4Sw4 620 1.0 4 v 85 1NW190 -90  1SE-1 100 50 1
+» KJ8654 Dif: 30 NS:-1 4SE4 620 -1.0 6 + QJ9 Dif: 20 NS:0 1NW-1 100 50 2
» K98 IMP: 1 EW:2 4SW5 650 20 1 & QT973 IMP: 1 EW:1 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 & QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW4 430 Mean: 3NW3 400 1.0 3 ||# 28 » 732 4HE-1 -50 Mean: 4HW-1 50 60 1
v QT62 3NW4 430 -420 3NW4 430 0.0 13 v JT 2NE2 120 -180  4HE-1 50 60 2
+ A976 Dif: 0 NS:0 3NE4 430 00 2 ¢ T75 Dif: -170 NS:2 2SW-1 50 60 1
&4 IMP: 0 EW:0 & AT864 IMP: -5 EW:-6 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
o ¢VABN 4854 oo VAN 4, QJ8 3HE4 170 00 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 &92 2HE4 170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN3 -600 Mean: 3NN6 690 20 1 # 30 4 63 4SW5 450 Mean: 4SW-1 50 100 1
v QJ6 3NN3 -600 630  3NN5 660 10 3 v Q975 4SW4 420 -380 3SE4 470 50 1
¢ T963 Dif: 0 NS:-1 3NN4 630 00 11 + Q73 Dif: 30 NS:-1  4Sw4 420 1.0 11
& AK8 IMP: 0 EW:1 3NN3 600 -1.0 3 » T632 IMP: 1 EW:2 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 %o VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ & 32 E 45~54 &AK
W ~~~~~ W 45~54
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#1: 4 JHH (47.76) #2: 5 FE R (43. 8) #3: 2 5(43.64)
5 NS: FRERE SRER®(BEO) 11 11 NS: ZpiEi8 R (BAC) -10 VP: 15.75 : 4.25 Total VP: 43.80 Rank:
EW: FE2E BEEZEAC) 10 EW: 8835 EIEF(BRO) -1 IMP:} 19 : 0 2
S ———————————— e —————————— -
# 21 s KT74 2DE4 -130 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 4SW-2 200 Mean: 4SW-2 200 50 1
v T96 2DE4 -130 -230  2HW-1 50 70 1 v Q73 2SW2 -110 10  3HS3 140 40 2
¢ QT Dif: 0 NS:3 3DE3 410 3.0 1 ¢ 96532 Dif: 310 NS:5 4SW-1 100 30 1
» T843 IMP: 0 EW:-3 2HW2 110 3.0 3 » J87 IMP: 7 EW:3 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 *¢VABN 4, AT5 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 <140 40 1
S ~~~ -~ -~ 0 J7 3NW5 460 60 1||S 2~3~~ 44
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 5HE5 -650 Mean: 6HE-2 200 120 1 ||# 24 » Q876 2SS3 140 Mean: 4SS4 420 9.0 1
v K9 4HE5 -650 -530  2NE2 120 9.0 1 v QJT 4SS-1-50 50 38S4 170 30 1
+ KQT8 Dif: 0 NS:-3 3HE4 170 80 1 7 Dif: 190 NsS:3 3SS3 140 30 1
& AQ75 IMP: 0 EW:3 2HE4 170 80 2 & AK963 IMP: 5 EW:3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2853 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 [|S ~ ~ ~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SE4 -620 Mean: 4SE-1 100 120 1 # 26 & A32 1SE-1 100 Mean: 1NW-2 200 70 1
v AQJ2 4SW5 -650 -600 4SW4 620 1.0 4 v 85 1NW-1100 -90  1SE-1 100 50 1
+» KJ8654 Dif: 30 NS:-1 4SE4 620 -1.0 6 + QJ9 Dif: 0 NS:5 1NW-1 100 50 2
» K98 IMP: 1 EW:2 4SW5 650 20 1 & QT973 IMP: 0 EW:-5 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 » QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW4 -430 Mean: 3NW3 400 1.0 3 ||# 28 » 732 2NE4 -180 Mean: 4HW-1 50 60 1
v QT62 3NW4 -430 -420 3NW4 430 0.0 13 v JT 4HE4 -420 -180  4HE-1 50 60 2
+ A976 Dif: 0 NS:0 3NE4 430 00 2 ¢ T75 Dif: 240 NS:0 2SW-1 50 60 1
&4 IMP: 0 EW:0 & AT864 IMP: 6 EW:6 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
o ¢VABN 4854 oo VAN 4, QJ8 3HE4 170 00 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 &92 2HE4 170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN4 630 Mean: 3NN6 690 20 1 # 30 4 63 4SW4 -420 Mean: 4SW-1 50 100 1
v QJ6 3NN4 630 630 3NN5 660 10 3 v Q975 4SW4 -420 -380 3SE4 170 50 1
¢ T963 Dif: 0 NS:0 3NN4 630 00 11 + Q73 Dif: 0 NS:-1 4sw4 420 1.0 11
& AK8 IMP: 0 EW:0 3NN3 600 -1.0 3 » T632 IMP: 0 EW:1 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ & 32 E 45~54 &AK
W ~~~~~ W 45~54




¥ ——
3 113 F<F >RFEEHF LR L ==> R3 3
ke —fefe
#1: 4 JEH (47.76) #2: 5 ETB(43.8) #3: 2 5(43.64)
6 NS: HEH ERAGHO) 15 16 NS: REIE €5 E(BAC) -2 VP: 14.80 : 5.20 Total VP: 24.59 Rank:
EW: PR =EHE(EAC) 2 EW: Rl BR>¢(FEO) -15 IMP:| 35 20 12
e e —————————— I
# 21 s KT74 3NW3 -400 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 2SW3 -140 Mean: 4SW-2 200 50 1
v T96 2HW-150 -230 2HW-1 50 70 1 v Q73 2SE3-140 10  3HS3 140 40 2
* QT Dif: -450 NS:-5 3DE3 110 3.0 1 ¢ 96532 Dif: 0 NS:-4 4Sw-1 100 30 1
» T843 IMP: -10 EW:-7 2HW2 110 3.0 3 » J87 IMP: 0 EW:4 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 oV ABN 4 ATS 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 140 40 1
S ~~~ -~ -~ 0 J7 3NW5 460 60 1||S 2~3~~ 44
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 4HES5 -650 Mean: 6HE-2 200 120 1 ||# 24 » Q876 4S5S4 420 Mean: 4SS4 420 9.0 1
v K9 3NW3 -600 -530 2NE2 120 9.0 1 v QJT 4SN-1-50 50 38S4 170 30 1
+ KQT8 Dif: -50 NS:-3 3HE4 170 80 1 7 Dif: 470 NS:9 3SS3 140 30 1
& AQ75 IMP: -2 EW:2 2HE4 170 80 2 & AK963 IMP: 10 EW:3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2853 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 [|S ~ ~ ~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SE-1 100 Mean: 4SE-1 100 120 1 # 26 & A32 1SE1 -80 Mean: 1NW-2 200 70 1
v AQJ2 4SW4 -620 -600 4SW4 620 1.0 4 v 85 1NW-2200 -90  1SE-1 100 50 1
+» KJ8654 Dif: 720 NS:12 4SE4 620 -1.0 6 + QJ9 Dif: -280 NS:0 1NW-1 100 50 2
» K98 IMP: 12 EW:1 4SW5 650 20 1 & QT973 IMP: -7 EW:-7 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 & QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW4 -430 Mean: 3NW3 400 1.0 3 ||# 28 » 732 3HE3 -140 Mean: 4HW-1 50 60 1
v QT62 3NW4 -430 -420 3NW4 430 0.0 13 v JT 4SW4 -420 -180  4HE-1 50 60 2
+ A976 Dif: 0 NS:0 3NE4 430 00 2 ¢ T75 Dif: 280 NS:1  2SW-1 50 60 1
&4 IMP: 0 EW:0 & AT864 IMP: 7 EW:6 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
o ¢VABN 4854 oo VAN 4, QJ8 3HE4 170 00 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 &92 2HE4 170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN4 630 Mean: 3NN6 690 20 1 # 30 4 63 3SE4 -170 Mean: 4SW-1 50 100 1
v QJ6 3NN5 660 630 3NN5 660 10 3 v Q975 4SW4 -420 -380 3SE4 470 50 1
¢ T963 Dif: -30 NS:0 3NN4 630 00 11 + Q73 Dif: 250 NS:5 4Sw4 420 1.0 11
& AK8 IMP: -1 EW:-1  3NN3 600 -1.0 3 » T632 IMP: 6 EW:1 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ & 32 E 45~54 &AK
W ~~~~~ W 45~54




¥ ——
3 113 F<F >RFEEHF LR L ==> R3 3
ke —fefe
#1: 4 JEH (47.76) #2: 5 ETB(43.8) #3: 2 5(43.64)
7 NS: E{& & EEGEIC) 12 1 NS: BREF FFHE(F0) 4 VP: 14.00 : 6.00 Total VP: 27.87 Rank:
EW: JF)F,QM,\ BEFEGEO) 4 EW: &S HEIEBIC) 1 IMP:} 19 : 7 1
e ——————————
# 21 'y KT74 3NW4 430 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 3SW-1-100 Mean: 4SW-2 200 50 1
v T96 6DE-3 -150 -230  2HW-1 50 70 1 v Q73 3HS3 -140 10  3HS3 140 40 2
¢ QT Dif: 580 NS:9 3DE3 410 3.0 1 ¢ 96532 Dif: 40 NS:4 4sw-1 100 30 1
» T843 IMP: 11 EW:5 2HW2 110 3.0 3 » J87 IMP: 1 EW:-3 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 *¢VABN 4, AT5 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 <140 40 1
S ~~~ -~ -~ 0 J7 3NW5 460 60 1||S 2~3~~ 44
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1~
# 23 » 532 4HE5 650 Mean: 6HE-2 200 120 1 ||# 24 » Q876 4SS-150 Mean: 4SS4 420 9.0 1
v K9 4HE5 650 -530 2NE2 120 9.0 1 v QJT 2SS3-140 50 38S4 170 30 1
+ KQT8 Dif: 0 NS:-3 3HE4 170 80 1 7 Dif: 190 NsS:3 3SS3 140 30 1
& AQ75 IMP: 0 EW:3 2HE4 170 80 2 & AK963 IMP: 5 EW:3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2853 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 [|S ~ ~ ~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SE5 650 Mean: 4SE-1 100 120 1 # 26 & A32 1SE1 80 Mean: 1NW-2 200 70 1
v AQJ2 4SE5 650 -600 4Sw4 620 1.0 4 v 85 2HW3 140 -90  1SE-1 100 50 1
« KJ8654 Dif: 0 NS:-2 4SE4 620 -1.0 6 + QJ9 Dif: -60 NS:-2 1NW-1 100 50 2
» K98 IMP: 0 EW:2 4SW5 650 20 1 & QT973 IMP: -2 EW:0 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 » QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW3 400 Mean: 3NW3 400 1.0 3 ||# 28 » 732 4HE-1 -50 Mean: 4HW-1 50 60 1
v QT62 3NE4 430 -420 3NW4 430 0.0 13 v JT 2SW2 110 -180  4HE-1 50 60 2
+ A976 Dif: -30 NS:0 3NE4 430 00 2 ¢ T75 Dif: -160 NS:2 2SW-1 50 60 1
&4 IMP: -1 EW:-1 & AT864 IMP: -4 EW:-6 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
% ¢V ABN o854 FeVAN o, QJ8 3HE4 470 0.0 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 92 2HE4 4170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN4 -630 Mean: 3NN6 690 20 1 # 30 4 63 4SE4 420 Mean: 4SW-1 50 100 1
v QJ6 3NN6 -690 630  3NN5 660 1.0 v Q975 4SE4 420 -380 3SE4 470 50 1
¢ T963 Dif: 60 NS:2 3NN4 630 00 11 + Q73 Dif: 0 NS:-1 4sw4 420 1.0 11
& AK8 IMP: 2 EW:0 3NN3 600 1.0 » T632 IMP: 0 EW:1 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ * 32 E 45~54 &AK
W ~~~~~ W 45~54




¥ ——
3 113 F<F >RFEEHF LR L ==> R3 3
ke —fefe
#1: 4 JHH (47.76) #2: 5 FE R (43. 8) #3: 2 5(43.64)
8 NS: ¥iFfE HRxIREGH0) -15 1 3 NS: EZ2E HE(FC) -10 VP: 8.86 11.14| Total VP: 28.60 Rank:
EW: HRELE FRFEEEAC) 10 EW: T538 sF{_/E(BAO) 15 IMP:| 9 12 10
— e —————————— —
# 21 s KT74 2HW2 -110 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 2SE3 -140 Mean: 4SW-2 200 50 1
v T96 2HW4 170 -230  2HW-1 50 70 1 v Q73 2SW-1100 10  3HS3 140 40 2
¢ QT Dif: 60 Ns:3 3DE3 410 3.0 1 ¢ 96532 Dif: -240 NS:-4 4SW-1 100 30 1
» T843 IMP: 2 EW:-2 2HW2 110 3.0 3 » J87 IMP: -6 EW:-3 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 *¢VABN 4, AT5 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 <140 40 1
S ~~~ -~ -~ 0 J7 3NW5 460 60 1||S 2~3~~ 44
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 3NW3 -600 Mean: 6HE-2 200 120 1 ||# 24 » Q876 48S-1-50 Mean: 4SS4 420 9.0 1
v K9 4HE4 -620 -530 2NE2 120 9.0 1 v QJT 4SN-1-50 50 38S4 170 30 1
+ KQT8 Dif: 20 NS:-2 3HE4 170 80 1 7 Dif: 0 NS:-3 3SS3 140 30 1
& AQ75 IMP: 1 EW:3 2HE4 170 80 2 & AK963 IMP: 0 EW:3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2853 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 [|S ~ ~ ~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SW4 -620 Mean: 4SE-1 100 120 1 # 26 & A32 1NXW2 -380 Mean: 1NW-2 200 70 1
v AQJ2 4SW4 -620 -600 4SW4 620 1.0 4 v 85 1NW2 -120 -90  1SE-1 100 50 1
+» KJ8654 Dif: 0 NS:-1 4SE4 620 -1.0 6 + QJ9 Dif: -260 NS:-7 1NW-1 100 50 2
» K98 IMP: 0 EW:1 4SW5 650 20 1 & QT973 IMP: -6 EW:1 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 » QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW4 -430 Mean: 3NW3 400 1.0 3 ||# 28 » 732 2NW4 -180 Mean: 4HW-1 50 60 1
v QT62 3NW4 -430 -420 3NW4 430 0.0 13 v JT 4HE4 -420 -180  4HE-1 50 60 2
+ A976 Dif: 0 NS:0 3NE4 430 00 2 ¢ T75 Dif: 240 NS:0 2SW-1 50 60 1
&4 IMP: 0 EW:0 & AT864 IMP: 6 EW:6 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
o ¢VABN 4854 oo VAN 4, QJ8 3HE4 170 00 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 &92 2HE4 170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN4 630 Mean: 3NN6 690 20 1 # 30 4 63 4SW4 -420 Mean: 4SW-1 50 100 1
v QJ6 3NN4 630 630 3NN5 660 1.0 v Q975 4SW4 -420 -380 3SE4 470 50 1
¢ T963 Dif: 0 NS:0 3NN4 630 00 11 + Q73 Dif: 0 NS:-1 4sw4 420 1.0 11
& AK8 IMP: 0 EW:0 3NN3 600 1.0 » T632 IMP: 0 EW:1 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ & 32 E 45~54 &AK
W ~~~~~ W 45~54




¥ ——
3 113 F<F >RFEEHF LR L ==> R3 3
ke —fefe
#1: 4 JEH (47.76) #2: 5 ETB(43.8) #3: 2 5(43.64)
9 NS: BE5F B B8 #GH0) -10 15 NS: BRIIEF FIEB(BAC) 12 VP: 4.03 15.97 | Total VP: 22.47 Rank:
EW: 1805 BEEsEEAC) -12 EW: 28X BER(BO) 10 IMP:| 4 24 14
I e —————————— I
# 21 » KT74 3NW4 -430 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 2SW2 -110 Mean: 4SW-2 200 50 1
v T96 1NW3 -150 -230  2HW-1 50 70 1 v Q73 3HS3140 10  3HS3 140 40 2
¢ QT Dif: -280 NS:-5 3DE3 410 3.0 1 ¢ 96532 Dif: -250 NS:-3 4SW-1 100 30 1
» T843 IMP: -7 EW:-2 2HW2 110 3.0 3 » J87 IMP: -6 EW:-4 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 *¢VABN 4, AT5 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 <140 40 1
S ~~~ -~ -~ 0 J7 3NW5 460 60 1||S 2~3~~ 44
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 4HES5 -650 Mean: 6HE-2 200 120 1 ||# 24 » Q876 4SN-1-50 Mean: 4SS4 420 9.0 1
v K9 2HE4 -170 -530  2NE2 120 9.0 1 v QJT 4SS-1-50 50 38S4 170 30 1
+ KQT8 Dif: -480 NS:-3 3HE4 170 80 1 7 Dif: 0 NS:-3 3SS3 140 30 1
& AQ75 IMP: -10 EW:-8 2HE4 170 80 2 & AK963 IMP: 0 EW:3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2883 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 ||S ~ ~~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SE4 -620 Mean: 4SE-1 100 120 1 # 26 & A32 2HW2 -110 Mean: 1NW-2 200 70 1
v AQJ2 4SE5 -650 -600 4Sw4 620 1.0 4 v 85 2HW3 -140 -90  1SE-1 100 50 1
+» KJ8654 Dif: 30 NS:-1 4SE4 620 -1.0 6 + QJ9 Dif: 30 NS:-1  1NW-1 100 50 2
» K98 IMP: 1 EW:2 4SW5 650 20 1 & QT973 IMP: 1 EW:2 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 » QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW4 -430 Mean: 3NW3 400 1.0 3 ||# 28 » 732 4HW-1 50 Mean: 4HW-1 50 60 1
v QT62 3NW3 -400 -420 3NW4 430 0.0 13 v JT 2SW-150 -180  4HE-1 50 60 2
+ A976 Dif: -30 NS:0 3NE4 430 00 2 ¢ T75 Dif: 0 NS:6 2SW-1 50 60 1
&4 IMP: -1 EW:-1 & AT864 IMP: 0 EW:-6 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
o ¢VABN 4854 oo VAN 4, QJ8 3HE4 170 00 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 &92 2HE4 170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN5 660 Mean: 3NN6 690 20 1 # 30 4 63 4SW4 -420 Mean: 4SW-1 50 100 1
v QJ6 3NN4 630 630 3NN5 660 10 3 v Q975 4SW5 -450 -380 3SE4 470 50 1
¢ T963 Dif: 30 NS:1  3NN4 630 00 11 + Q73 Dif: 30 NS:-1  4Sw4 420 1.0 11
& AK8 IMP: 1 EW:0 3NN3 600 -1.0 3 » T632 IMP: 1 EW:2 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ & 32 E 45~54 &AK
W ~~~~~ W 45~54




¥ ——
3 113 F<F >RFEEHF LR L ==> R3 3
ke —fefe
#1: 4 JEH (47.76) #2: 5 ETB(43.8) #3: 2 5(43.64)
1 O NS: E3¥K ZEREIR(BHO) 25 17 NS: 285t M#HH(BAC) 13 VP: 12.18 . 7.82 Total VP: 30.56 Rank:
EW: 13{EH Frg=EAC) -13 EW: [RIERE FE1E3R(BAO) -2 IMP:| 23 17 9
I — e —————————— -
# 21 s KT74 3DE3 -110 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 2SW-1100 Mean: 4SW-2 200 50 1
v T96 3NW4 -430 -230 2HW-1 50 70 1 v Q73 3SW-1100 10  3HS3 140 40 2
¢ QT Dif: 320 NS:3 3DE3 410 3.0 1 ¢ 96532 Dif: 0 NS:3 4SW-1 100 30 1
» T843 IMP: 8 EW:5 2HW2 110 3.0 3 » J87 IMP: 0 EW:-3 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 *¢VABN 4, AT5 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 <140 40 1
S ~~~ -~ -~ 0 J7 3NW5 460 60 1||S 2~3~~ 44
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 3HE4 -170 Mean: 6HE-2 200 120 1 ||# 24 » Q876 48S-1-50 Mean: 4SS4 420 9.0 1
v K9 6HE-2 200 -530 2NE2 120 9.0 1 v QJT 2554170 50 38S4 170 30 1
+ KQT8 Dif: -370 Ns:8 3HE4 170 80 1 7 Dif: -220 NsS:-3 3SS3 140 30 1
& AQ75 IMP: -9 EW:-12 2HE4 170 80 2 & AK963 IMP: -6 EW:-3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2853 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 [|S ~ ~ ~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SE4 -620 Mean: 4SE-1 100 120 1 # 26 & A32 1NW-1 100 Mean: 1NW-2 200 70 1
v AQJ2 4SW4 -620 -600 4SW4 620 1.0 4 v 85 1NW1-90 -90  1SE-1 100 50 1
+» KJ8654 Dif: 0 NS:-1 4SE4 620 -1.0 6 + QJ9 Dif: 190 NS:5 1NW-1 100 50 2
» K98 IMP: 0 EW:1 4SW5 650 20 1 & QT973 IMP: 5 EW:0 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 » QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW4 -430 Mean: 3NW3 400 1.0 3 ||# 28 » 732 3HE4 -170 Mean: 4HW-1 50 60 1
v QT62 3NW3 -400 -420 3NW4 430 00 13 v JT 2SW3 -140 -180  4HE-1 50 60 2
+ A976 Dif: -30 NS:0 3NE4 430 00 2 ¢ T75 Dif: -30 NS:0 2SW-1 50 60 1
&4 IMP: -1 EW:-1 & AT864 IMP: -1 EW:-1 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
o ¢VABN 4854 oo VAN 4, QJ8 3HE4 170 00 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 &92 2HE4 170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN4 630 Mean: 3NN6 690 20 1 # 30 4 63 4SW-1 50 Mean: 4SW-1 50 100 1
v QJ6 3NN4 630 630 3NN5 660 10 3 v Q975 4SW4 -420 -380 3SE4 170 50 1
¢ T963 Dif: 0 NS:0 3NN4 630 00 11 + Q73 Dif: 470 NS:10 4Sw4 420 1.0 11
& AK8 IMP: 0 EW:0 3NN3 600 -1.0 3 » T632 IMP: 10 EW:1 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ & 32 E 45~54 &AK
W ~~~~~ W 45~54




¥ ——
3 113 F<F >RFEEHF LR L ==> R3 3
ke —fefe
#1: 4 JEH (47.76) #2: 5 ETB(43.8) #3: 2 5(43.64)
1 1 NS: FiEE BB =EIC) -10 5 NS: P18 SBEUR(BAO) 11 VP: 4.25 15.75| Total VP: 32.75 Rank:
EW: 8218 HEMEMEE0) -11 EW: FEE BREISZ(BAC) 10 IMP:| 0 19 8
I — e ——————————
# 21 » KT74 2DE4 130 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 4SW-2 -200 Mean: 4SW-2 200 50 1
v T96 2DE4 130 -230 2HW-1 50 70 1 v Q73 2SW2110 10  3HS3 140 40 2
¢ QT Dif: 0 NS:3 3DE3 410 3.0 1 ¢ 96532 Dif: -310 NS:-3 4SW-1 100 30 1
» T843 IMP: 0 EW:-3 2HW2 110 3.0 3 » J87 IMP: -7 EW:-5 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 *¢VABN 4, AT5 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 <140 40 1
S ~~~ -~ -~ 0 J7 3NW5 460 60 1||S 2~3~~ 44
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 5HE5 650 Mean: 6HE-2 200 120 1 ||# 24 » Q876 2SS3 -140 Mean: 4SS4 420 9.0 1
v K9 4HE5 650 -530 2NE2 120 9.0 1 v QJT 4SS-150 50 38S4 170 30 1
+ KQT8 Dif: 0 NS:-3 3HE4 170 80 1 7 Dif: -190 NS:-3 3SS3 140 30 1
& AQ75 IMP: 0 EW:3 2HE4 170 80 2 & AK963 IMP: -5 EW:-3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2883 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 48S-1 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 ||S ~ ~~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SE4 620 Mean: 4SE-1 100 120 1 # 26 & A32 1SE-1 -100 Mean: 1NW-2 200 70 1
v AQJ2 4SW5 650 -600 4SW4 620 1.0 4 v 85 1NW-1-100 -90  1SE-1 100 50 1
« KJ8654 Dif: -30 NS:-2 4SE4 620 -1.0 6 + QJ9 Dif: 0 NS:5 1NW-1 100 50 2
» K98 IMP: -1 EW:1 4SW5 650 20 1 & QT973 IMP: 0 EW:-5 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 » QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW4 430 Mean: 3NW3 400 1.0 3 ||# 28 » 732 2NE4 180 Mean: 4HW-1 50 60 1
v QT62 3NW4 430 -420 3NW4 430 0.0 13 v JT 4HE4 420 -180  4HE-1 50 60 2
+ A976 Dif: 0 NS:0 3NE4 430 00 2 ¢ T75 Dif: -240 NS:-6 2SW-1 50 60 1
&4 IMP: 0 EW:0 & AT864 IMP: -6 EW:0 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 + A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
o ¢VABN 4854 oo VAN 4, QJ8 3HE4 170 00 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 &92 2HE4 170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN4 -630 Mean: 3NN6 690 20 1 # 30 4 63 4SW4 420 Mean: 4SW-1 50 100 1
v QJ6 3NN4 -630 630  3NN5 660 10 3 v Q975 4SW4 420 -380 3SE4 170 50 1
¢ T963 Dif: 0 NS:0 3NN4 630 00 11 + Q73 Dif: 0 NS:-1 4sw4 420 1.0 11
& AK8 IMP: 0 EW:0 3NN3 600 -1.0 3 » T632 IMP: 0 EW:1 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ & 32 E 45~54 &AK
W ~~~~~ W 45~54




¥ ——
3 113 F<F >RFEEHF LR L ==> R3 3
ke —fefe
#1: 4 JEH (47.76) #2: 5 ETB(43.8) #3: 2 5(43.64)
1 2 NS: ¥igk = BRENEEAC) -14 3 NS: #iRRBA BRZEH(BRO) -9 VP: 6.86 13.14| Total VP: 7.31 Rank:
EW: EEH BRBEIO) 9 EW: BfsI\ X EiE&(BAC) 14 IMP:| 6 : 15 18
S ———————— T e ——————————
# 21 » KT74 2HW2 110 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 3CXS-1100 Mean: 4SW-2 200 50 1
v T96 2HW2 110 -230 2HW-1 50 70 1 v Q73 3SW-1-100 10  3HS3 140 40 2
¢ QT Dif: 0 NS:3 3DE3 410 3.0 1 ¢ 96532 Dif: 200 NS:3  4SW-1 100 30 1
» T843 IMP: 0 EW:-3 2HW2 110 3.0 3 » J87 IMP: 5 EW:3 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 oV ABN 4 ATS 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 140 40 1
S ~~~~~ *J7 3NW5 460 60 1||S 2~3~~ ¢4
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 3NW4 630 Mean: 6HE-2 200 120 1 ||# 24 » Q876 3SS4 -170 Mean: 4SS4 420 9.0 1
v K9 4HE5 650 -530 2NE2 120 9.0 1 v QJT 3S8S3-140 50 38S4 170 30 1
+ KQT8 Dif: -20 NS:-3 3HE4 170 80 1 7 Dif: -30 NS:3 3SS3 140 30 1
& AQ75 IMP: -1 EW:3 2HE4 170 80 2 & AK963 IMP: -1 EW:-3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2853 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 [|S ~ ~ ~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SE5 650 Mean: 4SE-1 100 120 1 # 26 & A32 2HW2 110 Mean: 1NW-2 200 70 1
v AQJ2 4SE4 620 -600 4Sw4 620 1.0 4 v 85 2DXS-2500 -90  1SE-1 100 50 1
+» KJ8654 Dif: 30 NS:-1 4SE4 620 -1.0 6 + QJ9 Dif: -390 NS:-9 1NW-1 100 50 2
» K98 IMP: 1 EW:2 4SW5 650 20 1 & QT973 IMP: -9 EW:1 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 & QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW4 430 Mean: 3NW3 400 1.0 3 ||# 28 » 732 3NE4 430 Mean: 4HW-1 50 60 1
v QT62 3NW4 430 -420 3NW4 430 0.0 13 v JT 2DXS-2 500 -180  4HE-1 50 60 2
+ A976 Dif: 0 NS:0 3NE4 430 00 2 ¢ T75 Dif: -70 NS:-8 2SW-1 50 60 1
&4 IMP: 0 EW:0 & AT864 IMP: -2 EW:6 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
o ¢VABN 4854 oo VAN 4, QJ8 3HE4 170 00 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 &92 2HE4 170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN5 -660 Mean: 3NN6 690 20 1 # 30 4 63 4SW4 420 Mean: 4SW-1 50 100 1
v QJ6 3NN3 -600 630 3NN5 660 1.0 v Q975 4SW4 420 -380 3SE4 470 50 1
¢ T963 Dif: -60 NS:-1 3NN4 630 00 11 + Q73 Dif: 0 NS:-1 4sw4 420 1.0 11
& AK8 IMP: -2 EW:-1  3NN3 600 1.0 » T632 IMP: 0 EW:1 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ & 32 E 45~54 &AK
W ~~~~~ W 45~54




¥ ——
3 113 F<F >RFEEHF LR L ==> R3 3
ke —fefe
#1: 4 JEH (47.76) #2: 5 ETB(43.8) #3: 2 5(43.64)
1 3 NS: ZEEZE B EEAC) -10 8 NS: EIF 2 MZKIB(FIO) -14 VP: 11.14 : 8.86 | Total VP: 34.01 Rank:
EW: T?ﬁi;t_ #{_E(F;?JO) 15 EW: M E#E 5RIEE(BAC) 10 IMP:| 12 : 9 7
e —————————— o
# 21 'y KT74 2HW2 110 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 2SE3 140 Mean: 4SW-2 200 50 1
v T96 2HW4 170 -230  2HW-1 50 70 1 v Q73 2SW-1-100 10  3HS3 140 40 2
¢ QT Dif: -60 NS:2 3DE3 410 3.0 1 ¢ 96532 Dif: 240 NS:3  4SW-1 100 30 1
» T843 IMP: -2 EW:-3 2HW2 110 3.0 3 » J87 IMP: 6 EW:4 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 oV ABN 4 ATS 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 140 40 1
S ~~~~~ *J7 3NW5 460 60 1||S 2~3~~ ¢4
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 3NW3 600 Mean: 6HE-2 200 120 1 ||# 24 » Q876 4SS-150 Mean: 4SS4 420 9.0 1
v K9 4HE4 620 -530 2NE2 120 9.0 1 v QJT 4SN-150 50 38S4 170 30 1
+ KQT8 Dif: -20 NS:-3 3HE4 170 80 1 7 Dif: 0 NS:-3 3SS3 140 30 1
& AQ75 IMP: -1 EW:2 2HE4 170 80 2 & AK963 IMP: 0 EW:3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2853 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 [|S ~ ~ ~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SW4 620 Mean: 4SE-1 100 120 1 # 26 & A32 1NXW2 380 Mean: 1NW-2 200 70 1
v AQJ2 4SW4 620 -600 4SW4 620 1.0 4 v 85 1NW2120 -90  1SE-1 100 50 1
+» KJ8654 Dif: 0 NS:-1 4SE4 620 -1.0 6 + QJ9 Dif: 260 NS:-1  1NW-1 100 50 2
» K98 IMP: 0 EW:1 4SW5 650 20 1 & QT973 IMP: 6 EW:7 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 & QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW4 430 Mean: 3NW3 400 1.0 3 ||# 28 » 732 2NW4 180 Mean: 4HW-1 50 60 1
v QT62 3NW4 430 -420 3NW4 430 0.0 13 v JT 4HE4 420 -180  4HE-1 50 60 2
+ A976 Dif: 0 NS:0 3NE4 430 00 2 ¢ T75 Dif: -240 NS:-6 2SW-1 50 60 1
&4 IMP: 0 EW:0 & AT864 IMP: -6 EW:0 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
o ¢VABN 4854 oo VAN 4, QJ8 3HE4 170 00 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 &92 2HE4 170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN4 -630 Mean: 3NN6 690 20 1 # 30 4 63 4SW4 420 Mean: 4SW-1 50 100 1
v QJ6 3NN4 -630 630  3NN5 660 1.0 v Q975 4SW4 420 -380 3SE4 470 50 1
¢ T963 Dif: 0 NS:0 3NN4 630 00 11 + Q73 Dif: 0 NS:-1 4sw4 420 1.0 11
& AK8 IMP: 0 EW:0 3NN3 600 1.0 » T632 IMP: 0 EW:1 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ & 32 E 45~54 &AK
W ~~~~~ W 45~54




¥ ——
3 113 F<F >RFEEHF LR L ==> R3 3
ke —fefe
#1: 4 JHH (47.76) #2: 5 FE R (43. 8) #3: 2 5(43.64)
1 4 NS: sk BRECNGHO) -24 1 8 NS: &4 BREAFI(BAC) -20 VP: 7.82 12.18| Total VP: 37.14 Rank:
EW: £25 % #fER(EIC) 20 EW: EE:T It ZE(BO) 24 IMP:| 6 12 6
e e —————————— -
# 21 s KT74 3NW3 -400 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 3SW-1100 Mean: 4SW-2 200 50 1
v T96 3NW3 -400 -230 2HW-1 50 70 1 v Q73 2HW3 -140 10  3HS3 140 40 2
¢ QT Dif: 0 NS:-5 3DE3 410 3.0 1 ¢ 96532 Dif: 240 NS:3  4SW-1 100 30 1
» T843 IMP: 0 EW:5 2HW2 110 3.0 3 » J87 IMP: 6 EW:4 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 *¢VABN 4, AT5 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 <140 40 1
S ~~~ -~ -~ 0 J7 3NW5 460 60 1||S 2~3~~ 44
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 1DXN-4 -1100 Mean: 6HE-2 200 120 1 ||# 24 » Q876 48S-1-50 Mean: 4SS4 420 9.0 1
v K9 1CXN-4 -1100 -530 2NE2 120 9.0 1 v QJT 2554170 50 38S4 170 30 1
+ KQT8 Dif: 0 NS:-11 3HE4 170 80 1 7 Dif: -220 NsS:-3 3SS3 140 30 1
& AQ75 IMP: 0 EW:11 2HE4 170 80 2 & AK963 IMP: -6 EW:-3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2853 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 [|S ~ ~ ~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 5DXN-4 -800 Mean: 4SE-1 100 120 1 # 26 & A32 1SE3 -140 Mean: 1NW-2 200 70 1
v AQJ2 4SE4 -620 -600 4SW4 620 1.0 4 v 85 2HW3 140 -90  1SE-1 100 50 1
+» KJ8654 Dif: -180 NS:-5 4SE4 620 -1.0 6 + QJ9 Dif: 0 NS:-2 1NW-1 100 50 2
» K98 IMP: -5 EW:1 4SW5 650 20 1 & QT973 IMP: 0 EW:2 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 » QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW4 -430 Mean: 3NW3 400 1.0 3 ||# 28 » 732 2HE4 -170 Mean: 4HW-1 50 60 1
v QT62 3NE4 -430 -420 3NW4 430 0.0 13 v JT 2HE3 -140 -180  4HE-1 50 60 2
+ A976 Dif: 0 NS:0 3NE4 430 00 2 ¢ T75 Dif: -30 NS:0 2SW-1 50 60 1
&4 IMP: 0 EW:0 & AT864 IMP: -1 EW:-1 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
o ¢VABN 4854 oo VAN 4, QJ8 3HE4 170 00 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 &92 2HE4 170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN4 630 Mean: 3NN6 690 20 1 # 30 4 63 4SW4 -420 Mean: 4SW-1 50 100 1
v QJ6 3NN4 630 630 3NN5 660 10 3 v Q975 4SE4 -420 -380 3SE4 170 50 1
¢ T963 Dif: 0 NS:0 3NN4 630 00 11 + Q73 Dif: 0 NS:-1 4sw4 420 1.0 11
& AK8 IMP: 0 EW:0 3NN3 600 -1.0 3 » T632 IMP: 0 EW:1 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ & 32 E 45~54 &AK
W ~~~~~ W 45~54




¥ ——
3 113 F<F >RFEEHF LR L ==> R3 3
ke —fefe
#1: 4 JHH (47.76) #2: 5 FE R (43. 8) #3: 2 5(43.64)
1 5 NS: BET7$% #EEEAC) 12 9 NS: BR<FR 158/ (F0) 1 VP: 15.97 : 4.03 | Total VP: 42.69 Rank:
EW: X3 BAHEEEIO) 10 EW: &liil75 BRiEFR(BAC) 1 IMP:| 24 : 4 4
I e —————————— .
# 21 s KT74 3NW4 430 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 2SW2 110 Mean: 4SW-2 200 50 1
v T96 1NW3 150 -230  2HW-1 50 70 1 v Q73 3HS3 140 10  3HS3 140 40 2
¢ QT Dif: 280 NS:2 3DE3 410 3.0 1 ¢ 96532 Dif: 250 NS:4 4SW-1 100 30 1
» T843 IMP: 7 EW:5 2HW2 110 3.0 3 » J87 IMP: 6 EW:3 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 *¢VABN 4, AT5 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 <140 40 1
S ~~~ -~ -~ 0 J7 3NW5 460 60 1||S 2~3~~ 44
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 4HE5 650 Mean: 6HE-2 200 120 1 ||# 24 » Q876 4SN-150 Mean: 4SS4 420 9.0 1
v K9 2HE4 170 -530 2NE2 120 9.0 1 v QJT 4SS-150 50 38S4 170 30 1
+ KQT8 Dif: 480 NS:8 3HE4 170 80 1 7 Dif: 0 NS:-3 3SS3 140 30 1
& AQ75 IMP: 10 EW:3 2HE4 170 80 2 & AK963 IMP: 0 EW:3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2853 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 [|S ~ ~ ~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SE4 620 Mean: 4SE-1 100 120 1 # 26 & A32 2HW2 110 Mean: 1NW-2 200 70 1
v AQJ2 4SE5 650 -600 4Sw4 620 1.0 4 v 85 2HW3 140 -90  1SE-1 100 50 1
+» KJ8654 Dif: -30 NS:-2 4SE4 620 -1.0 6 + QJ9 Dif: -30 NS:-2 1NW-1 100 50 2
» K98 IMP: -1 EW:1 4SW5 650 20 1 & QT973 IMP: -1 EW:1 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 » QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW4 430 Mean: 3NW3 400 1.0 3 ||# 28 » 732 4HW-1 -50 Mean: 4HW-1 50 60 1
v QT62 3NW3 400 -420 3NW4 430 0.0 13 v JT 2SW-1-50 -180  4HE-1 50 60 2
+ A976 Dif: 30 NS:1  3NE4 430 00 2 ¢ T75 Dif: 0 NS:6 2SW-1 50 60 1
&4 IMP: 1 EW:0 & AT864 IMP: 0 EW:-6 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
o ¢VABN 4854 oo VAN 4, QJ8 3HE4 170 00 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 &92 2HE4 170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN5 -660 Mean: 3NN6 690 20 1 # 30 4 63 4SW4 420 Mean: 4SW-1 50 100 1
v QJ6 3NN4 -630 630  3NN5 660 1.0 v Q975 4SW5 450 -380 3SE4 470 50 1
¢ T963 Dif: -30 NS:0 3NN4 630 00 11 + Q73 Dif: -30 NS:-2 4Sw4 420 1.0 11
& AK8 IMP: -1 EW:-1  3NN3 600 1.0 » T632 IMP: -1 EW:1 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ * 32 E 45~54 &AK
W ~~~~~ W 45~54




¥ ——
3 113 F<F >RFEEHF LR L ==> R3 3
ke —fefe
#1: 4 JEH (47.76) #2: 5 ETB(43.8) #3: 2 5(43.64)
1 6 NS: BE®E &58BEC) -2 6 NS: HEE £EHKA(BIO) 15 VP: 5.20 14.80 | Total VP: 14.90 Rank:
EW: BEEGH BEYR(EEO) -15 EW: [REHE =imt(BAC) 2 IMP:| 20 35 17
T e —————————— -
# 21 s KT74 3NW3 400 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 2SW3 140 Mean: 4SW-2 200 50 1
v T96 2HW-1 -50 -230 2HW-1 50 70 1 v Q73 2SE3 140 10  3HS3 140 40 2
* QT Dif: 450 NS:7 3DE3 110 3.0 1 ¢ 96532 Dif: 0 NS:-4 4Sw-1 100 30 1
» T843 IMP: 10 EW:5 2HW2 110 3.0 3 » J87 IMP: 0 EW:4 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 oV ABN 4 ATS 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 140 40 1
S ~~~~~ *J7 3NW5 460 60 1||S 2~3~~ ¢4
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 4HE5 650 Mean: 6HE-2 200 120 1 ||# 24 » Q876 4S5S4 -420 Mean: 4SS4 420 9.0 1
v K9 3NW3 600 -530 2NE2 120 9.0 1 v QJT 4SN-150 50 38S4 170 30 1
+ KQT8 Dif: 50 NS:-2 3HE4 170 80 1 7 Dif: -470 NsS:-3 3SS3 140 30 1
& AQ75 IMP: 2 EW:3 2HE4 170 80 2 & AK963 IMP: -10 EW:-9 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2853 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 [|S ~ ~ ~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SE-1 -100 Mean: 4SE-1 100 120 1 # 26 & A32 1SE1 80 Mean: 1NW-2 200 70 1
v AQJ2 4SW4 620 -600 4SW4 620 1.0 4 v 85 1NW-2-200 -90  1SE-1 100 50 1
+» KJ8654 Dif: -720 NS:-1 4SE4 620 -1.0 6 + QJ9 Dif: 280 NS:7 1NW-1 100 50 2
» K98 IMP: -12 EW:-12 4SW5 650 20 1 & QT973 IMP: 7 EW:0 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 & QJ95 1NW1 90 00 2
v 9874 v KT6 5DXN-4  -800 5.0 1 [|e JT42 _I_ v A97 2HW2 110 1.0 3
* AT932 ¢ AT873 .2 1NW2 120 1.0 1
& A32 » Q5 2 & AJ854 2HW3 140 20 3
o ¢ VAN 47543 F ¢ VBN 4876 1SE3 140 20 1
N 11~~~ 953 N ~~~~1 v KQ63 1NXW2 380 -7.0 1
S 11~~~ ¢Q7 S ~~~~1 ¢ K654 2DXS-2 500 9.0 1
E ~~343 &JT764 E ~~22~ &K6
W ~~343 W ~~22~
# 27 » J972 3NW4 430 Mean: 3NW3 400 1.0 3 ||# 28 » 732 3HE3 140 Mean: 4HW-1 50 60 1
v QT62 3NW4 430 -420 3NW4 430 0.0 13 v JT 4SW4 420 -180  4HE-1 50 60 2
+ A976 Dif: 0 NS:0 3NE4 430 00 2 ¢ T75 Dif: -280 NS:-6 2SW-1 50 60 1
&4 IMP: 0 EW:0 & AT864 IMP: -7 EW:-1 2SW2 110 2.0 1
& K3 & AQT6 & AKT96 s 54 2NE2 120 20 1
v K8 v A54 v A2 I v 987654 3HE3 140 1.0 1
¢ JT53 * Q2 * A6 * Q84 2SW3 140 1.0 1
& KQ753 » JT92 » Q753 » KJ 2HE3 140 1.0 1
o ¢VABN 4854 oo VAN 4, QJ8 3HE4 170 00 1
N ~~1~~ ¢J973 N ~1~~~ ¢ KaQ3 2NW4 180 0.0 1
S ~~1~~ ¢K84 S ~ 1~~~ ¢ KJI32 2NE4 180 0.0 1
E 4~~~4 &A86 E ~~332 &92 2HE4 170 0.0 1
W4~~~3 W ~~33~ 4sw4 420 6.0 1
4HE4 420 6.0 2
3NE4 430 6.0 1
2DXS-2 500 -8.0 1
# 29 » KQ2 3NN4 -630 Mean: 3NN6 690 20 1 # 30 4 63 3SE4 170 Mean: 4SW-1 50 100 1
v QJ6 3NN5-660 630  3NN5 660 1.0 v Q975 4SW4 420 -380 3SE4 470 50 1
¢ T963 Dif: 30 NS:1  3NN4 630 00 11 + Q73 Dif: -250 NS:-1 4SW4 420 1.0 11
& AK8 IMP: 1 EW:0 3NN3 600 1.0 » T632 IMP: -6 EW:-5 4SE4 420 1.0 3
s T84 \ A J73 & AJ87 & Q942 4SW5 450 20 2
v AT932 v38 v AK v J3
* J84 + + K52 + A86 * KJ92
+ Q6 & JT9754 & JI975 » Q84
o4 VAN 4 A5 o ¢ VBN 4 KT5
N ~4445 vK754 N ~~~~~ v T8642
S ~4445 ¢AQ7 S ~~~~~ o T54
E ~~~~~ & 32 E 45~54 &AK
W ~~~~~ W 45~54




¥ ——
3 113 F<F >RFEEHF LR L ==> R3 3
ke —fefe
#1: 4 JLEI(47 76) #2: 5 EETE(43.8) #3: 2 5(43.64)
1 7 NS: £Z88+5 HEFERC) 13 1 O S: 8% K #EAEIB(FHO) 25 VP: 7.82 12.18| Total VP: 23.14 Rank:
EW: BEZER: #5E3(B0) -25 EW: #B{E32 ZBEHR(BAC) 1 IMP:| 17 23 13
S ————————————————— e ——————————
# 21 s KT74 3DE3 110 Mean: 6DE-3 150 9.0 1 [[# 22 s QJ 2SW-1-100 Mean: 4SW-2 200 50 1
v T96 3NW4 430 -230 2HW-1 50 70 1 v Q73 3SW-1-100 10  3HS3 140 40 2
* QT Dif: -320 NS:-5 3DE3 110 3.0 1 ¢ 96532 Dif: 0 NS:3 4Sw-1 100 30 1
» T843 IMP: -8 EW:-3 2HW2 110 3.0 3 » J87 IMP: 0 EW:-3 3SW-1 100 30 4
AQ6 # 9832 2DE4 130 3.0 2 || 87642 s K93 2SW-1 100 30 2
v AQJ74 v38 2HW4 170 20 1 ||w 85 — v K62 3CXS-1 100 -3.0 1
+ K53 | ¢ A98642 1NW3 4150 2.0 1 ||e K8 ¢ AQIT7 25W2 4110 -3.0 3
K6 » 92 5DE5 400 -50 1 ||a A954 » Q3 2SW3 140 40 1
FOVAN o5 3NW4 430 50 3 *¢VABN 4, AT5 2SE3 140 40 2
N ~~~~~ v K532 3NW3 400 50 3 |IN 2~ 3 ~~ ¢ AJT94 2HW3 <140 40 1
S ~~~ -~ -~ 0 J7 3NW5 460 60 1||S 2~3~~ 44
E ~5~34 &AQJ75 E ~1~21 & KT62
W ~5~34 W ~~~1-~
# 23 » 532 3HE4 170 Mean: 6HE-2 200 120 1 ||# 24 » Q876 4SS-150 Mean: 4SS4 420 9.0 1
v K9 6HE-2 -200 -530 2NE2 120 9.0 1 v QJT 2854 -170 50 38S4 170 30 1
+ KQT8 Dif: 370 NS:12 3HE4 170 80 1 7 Dif: 220 NS:3 3SS3 140 30 1
& AQ75 IMP: 9 EW:-8 2HE4 170 80 2 & AK963 IMP: 6 EW:3 3SN3 140 30 1
» K974 a AJ 3NW3 600 -20 2 ||aT4 a A2 2854 170 3.0 2
v T4 + v AQJ753 5HE5 650 -3.0 1 ||e AK64 v 8532 2883 140 30 2
*9 ¢ AJ763 4HE5 650 -3.0 6 ||e KJ8 + A965 4851 50 3.0 6
& KJT862 S ~ 4HE4 620 -3.0 1 ||a T874 a J52 4SN-1 50 3.0 3
%oV AN ,QT86 3NW4 630 -3.0 1 ¢ VAN o KJIS3 4SXS-1 100 40 1
N ~~~~~ v 862 1DXN-4 1100 -11.0 1 ||N ~~~ 3 ~ ¢ 97
S ~~~~~ ¢ 542 1CXN-4 1100 110 1 ||S ~ ~~ 3 ~ ¢ QT432
E ~~5~3 8943 E~12~~ aQ
W ~~5~3 W ~12~~
# 25 ' 4SE4 620 Mean: 4SE-1 100 120 1 # 26 & A32 1NW-1 -100 Mean: 1NW-2 200 70 1
v AQJ2 4SW4 620 -600 4SW4 620 1.0 4 v 85 1NW190 -90  1SE-1 100 50 1
+» KJ8654 Dif: 0 NS:-1 4SE4 620 -1.0 6 + QJ9 Dif: -190 NS:0 1NW-1 100 50 2
» K98 IMP: 0 EW:1 4SW5 650 20 1 & QT973 IMP: -5 EW:-5 1SE1 80 00 2
# KT9862 » AQJ 4SE5 650 -20 5 ||a KT4 » QJ95 1NW1 90 00 2
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